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244 506,741 384,807 121,934
0l 0k MHIA MS(22H) 144,825 119,053 25,772
S50 208 23 144,825 119,053 25,772
OB (22H) 69,950 69,750 200
301 LerEa= 69,950 69,750 200
056 S-cl-tEeEs8as 68,150 68, 150 0
OoId4y 65,600
-JlZ2=g 200,000& = 20H = 12&8 48,000
-0 =2 200,000& * 209 * 23| 8,000
-5l o @A Ay
20,000& * 20 * 23| * 123 9,600
ogtd =4 50,000& * 51 2,550
10 AIAHIE&= 1,800 1,600 200
OO0y daXAs & M4PAE
90,000& * 209 1,800
dEY2Y L 2el(22dH) 26,428 18,784 7,644
101 el H] 1,484 0 1,484
10 JIZAH22ASES 1,484 0 1,484
O=E3%s Z2Zxd 2URY
35,3203 * 42¢ 1,484
201 ZEH2EH] 14,132 14,172 A40
01 AR 2&cldl 2,220 2,270 A50
OtlEa SALEX 2,000
OXtEHEME 60
-8 E 30,000& * 12l 30
-Sx35tE 30,000& * 13l 30
OXIIATAN =2 80,000& * 22l 160
02 522944 11,912 11,902 10
OFAHZHI 5,000
O&FAMN &I - == 450,000& = 123 5,400
OXt= ZtAl 29,000& * 1CH 29
OXeEE = 1,183
-8 = 584,000& * 1CH 584
-Sx3t= 599,000& * 1CH 599
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201 syl 28, 147 30,519 A2,372
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OASR NI 1,500
OXg RN 10,471
-4 8512 3,544,008 * 1Tk 3,544
-S43512 6,927,0002 * 1CH 6,927
401 Al&HI L2 20,000 0 20,000
01 Al&H] 20,000 0 20,000
OBARA SHEFYI(14) 20,000
405 XtarzE S| 300 0 300
01 KMLSEFSH] 300 0 300
Ol E] 300,008 * 1CH 300
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201 L2yl 25,905 21,551 4,354
01 AR2t21H] 20,810 17,124 3,686
OJl=24+EH 7,410
OJl=23 1,560
Oulerse 840
-EYue 15,0008 * 12 * 128 180
-Xgae 10,0008 * 552 * 128 600
-Xl Al 5,0008 * 12 * 128 60
OYAH 50,0008 * 2% = 110 11,000
02 222 5,095 4,427 668
OXze3 1,959
ORER3 2,236
OS AKX 900,000 * 1CH 900
202 0ofHl 23,400 23,400 0
02 N0t 23,400 23,400 0

O MY 150,000& = 13€ * 128 23,400




